
Diskrete Verteilungen

Gleichverteilung
von 1 bis N pk = 1

N
Pk = k

N
µ = N+1

2 σ =
√

N2−1
12

Exponentialverteilung
(geometrische Verteilung) pk = p(1− p)k−1 Pk = 1− (1− p)k µ = 1

p
σ =

√
1−p
p

Binomialverteilung pk =
(
n
k

)
pk(1− p)n−k Pk =

k∑
i0

(
n
i

)
pi(1− p)n−i µ = np σ =

√
np(1− p)

Hypergeometrische
Verteilung pk = (Mk )(N−M

n−k )
(Nn) Pk =

k∑
i0

(Mi )(N−M
n−i )

(Nn) µ = nM
N

(zu kompliziert)

Kontinuierliche Verteilungen

Gleichverteilung
von 0 bis N f(x) = 1

N
F (x) = x

N
µ = N

2 σ = N√
12

Exponentialverteilung f(x) = λe−λx F (x) = 1− e−λx µ = 1
λ

σ = 1
λ

Gammaverteilung f(x) = λ2xe−λx F (x) = 1− (λx+ 1)e−λx µ = 2
λ

σ =
√

2
λ

Normalverteilung f(x) = 1√
2πσ2

e
− (x−µ)2

2σ2
F (x) =

x∫
−∞

1√
2πσ2

e
− (ξ−µ)2

2σ2
dξ µ σ


